

BID2024-16 PEOSHA TRAINING SERVICES FOR THE DEPARTMENT OF WATER AND SEWER, TRENTON WATER WORKS VIRTUAL BID OPENING DATE MARCH 14, 2024 AT 11:00AM		
NUMBER OF RESPONDENTS:	2	
NAME OF BIDDER	CERTIFIED HEALTH & SAFETY SERVICES	SKYLINE ENVIRONMENTAL, INC.
ADDRESS	1902 TAYLORS LANE - SUITE A	740 HIGHWAY 34 - SUITE E
CITY, STATE, ZIP	CINNAMONSON, NJ 08077	MATAWAN, NJ 07747
CONTACT NAME	AMY H. DIFONZO	JAMES N. GOTAY
TELEPHONE	856-829-4463	732-583-2500
FAX	N/A	732-583-5200
E-MAIL	Amy@certifiedhss.com	jamesgotay@skylineenv.com
STATEMENT OF OWNERSHIP DISCLOSURE- MANDATORY	INCLUDED	INCLUDED
AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED
NOTICE OF INTENT TO SUBCONTRACT	NONE	NONE
SUBCONTRACTORS	N/A	N/A
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA - MANDATORY	N/A	N/A
NJ BUSINESS REGISTRATION CERTIFICATE OF CONTRACTOR	INCLUDED	INCLUDED
EIC FROM CONTRACTOR	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS	CERT#22979 EXP. 5/15/2025
LICENSING	INCLUDED	INCLUDED
NON-COLLUSION AFFADAVIT	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED
ETHIC COMPLAINT DISCLOSURE	INCLUDED	INCLUDED
STATE AND FEDERAL DEBARMENT CERTIFICATION	INCLUDED	INCLUDED
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER
SIXTY (60) DAY EXTENSION COMPLIANCE	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES
TOTAL AMOUNT FOR ONE (1) YEAR SEE ATTACHED BREAK-DOWN OF PRICING	\$54,215.00	\$102,050.00
REFERENCES	INCLUDED	INCLUDED
EXCEPTIONS	YES - SEE ATTACHED	NONE
FATAL FLAW	NONE	NONE

PROPOSAL

The undersigned proposes to furnish PEOSHA Safety Training for City of Trenton employees at the Trenton Water Works Distribution Complex on Cortland as needed in the classroom and in the field in the disciplines of:

Item #	Description of PEOSHA Safety Class (10 - 15 employees per class unless otherwise noted)	Unit	Unit Price	Qty	Extended Price
1	PPE Training (1.5 hr. session)	Each	\$595	3	\$1785
2	Back Injury Training (2 hr session)	Each	\$895	3	\$2685
3	American Heart Association First Aide, AED and CPR Training – 12 person max. per class (8 hr. session)	Each	\$1495	4	\$5980
4	Traffic Control Safety Training (4 hr. session) <small>see exception</small>	Each	\$2995	3	\$8985
5	Excavation Safety Training (2 hr. session) <small>see exception</small>	Each	\$1295	3	\$3885
6	Confined Space & Ladder Training (5.5 hr split session)	Each	\$1495	3	\$4485
7	Hoisting & Rigging Hands-on Training (4-5 hr. session)	Each	\$1495	3	\$4485
8	Lockout/Tagout and Electrical Safety (2 hr session) <small>see exception</small>	Each	\$1295	3	\$3885
9	Safety and Defensive Driving involving Construction Vehicles (4 hr. session)	Each	\$1495	3	\$4485
10	Forklift & Pallet Training (4 hr session)	Each	\$1295	1	\$1295
11	Work Zone Safety Guidelines for Construction, Maintenance, & Utility Operations - Laminated Quick Reference Guides	Each	\$15	20	\$300
12	OSHA 10 Hour General Industry	Each	\$2990	4	\$11,960
Grand Total PEOSHA Safety Training					\$54,215

CONTRACT SHALL BE AWARDED TO THE LOWEST RESPONSIBLE BID PRICE PER YEAR

Respectfully Submitted: Certified Health & Safety Services
(Company)

Person to contact: Amy DiFonzo
(Printed name)


(Signature)

Telephone number: 856-829-4463

Email: Amy@certifiedhss.com

**EXCEPTIONS
(IF NONE, PLEASE NOTE)**

NSC Work Zone Technician or ATSAA Traffic Control Courses are bid as full day sessions

Excavation, Trenching, and Shoring classes are bid as 4 hour classes

Lockout/Tagout and Electrical Safety classes are bid as 4 hour classes

OSHA 10 hour Gen Industry classes are bid as quantity 4 - 2 full day classes each

PROPOSAL

The undersigned proposes to furnish PEOSHA Safety Training for City of Trenton employees at the Trenton Water Works Distribution Complex on Cortland as needed in the classroom and in the field in the disciplines of:

Item #	Description of PEOSHA Safety Class (10 - 15 employees per class unless otherwise noted)	Unit	Unit Price	Qty	Extended Price
1	PPE Training (1.5 hr. session)	Each	\$1,750.	3	\$5,250.
2	Back Injury Training (2 hr session)	Each	\$1,750.	3	\$5,250.
* 3	American Heart Association First Aide, AED and CPR Training – 12 person max. per class (8 hr. session) Certified	Each	\$3,800.	4	\$15,200.
4	Traffic Control Safety Training (4 hr. session)	Each	\$4,000.	3	\$12,000.
5	Excavation Safety Training (2 hr. session)	Each	\$1,750.	3	\$5,250.
6	Confined Space & Ladder Training (5.5 hr split session) w/Drill	Each	\$3,500.	3	\$10,500.
7	Hoisting & Rigging Hands-on Training (4-5 hr. session) w/Drill	Each	\$3,500.	3	\$10,500.
8	Lockout/Tagout and Electrical Safety (2 hr session) w/Drill	Each	\$2,000.	3	\$6,000.
9	Safety and Defensive Driving involving Construction Vehicles (4 hr. session) Certified	Each	\$4,000.	3	\$12,000.
10	Forklift & Pallet Training (4 hr session)	Each	\$4,000.	1	\$4,000.
11	Work Zone Safety Guidelines for Construction, Maintenance, & Utility Operations - Laminated Quick Reference Guides	Each	\$5.	20	\$100.
12	OSHA 10 Hour General Industry	Each	\$4,000	4	\$16,000.
Grand Total PEOSHA Safety Training					\$102,050.

CONTRACT SHALL BE AWARDED TO THE LOWEST RESPONSIBLE BID PRICE PER YEAR

Skyline personnel are certified by the American Red Cross to conduct First Aid, AED and CPR

Training. Skyline can contract with the American Heart Association to conduct the aforementioned

Respectfully Submitted: Skyline Environmental, Inc.

(Company)



(Signature)

Person to contact: James N. Gotay
(Printed name)

Telephone number: 732-583-2500

Email: jamesgotay@skylineenv.com